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Note: in square brackets I occasionally comment on the particular correction.

• page 43, 6th line below eqn (a) should be: “The right-hand side of (a). . . ”

• page 126, below eqn (e) should be: “The future tax rate affects. . . ”

• page 126, in eqn (h) it should be −[1 + r0(1 − t1)]B0 on the right-hand side [missing

minus sign]

• page 166, first line of (6.26): replace second t̃M by t̃A [second and third lines are fine]

• page 297, line 3 of text: . . .e100/E0 US dollars. . . [remove superfluous right bracket]

• page 342, footnote 16 should have: Z̄ = S · [1 + r̄ + ω(rM − r̄)] [multiplication, not

division]

∗Please send any errata and typos you may find to: info@heijdra.org. My gratitude will be genuine,

profound, and eternal.
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2 Heijdra: Foundations of Modern Macroeconomics, Second Edition, 2009

• page 406, line 3 from bottom. . . . lower than. . .

• page 427, eq. (13.86): −ρ is missing. It should read:

−

µ̇(t)

µ(t)
= f ′

(

kSO(t)
)

− (ρ+ n+ δ)

• page 451, line 8 from bottom. . . . from point B to point A in Figure 14.1

• page 458, line 2 [missing dot]: K̇i (t) = Ii (t)− δKKi (t)

• page 504, loglinearization of (T1.6), first line [missing asterisk]:

Y (t)

Y ∗
= · · ·

• page 568, eq. (16.34): dτ missing in the first integral.

• page 579, fn. 8, last sentence: “. . . from the third to the fourth line. . . ”

• pages 584–585. Intercept on the horizontal axis should be −Z0/r
∗.

• page 590, line 4: delete square brackets around 1− L (v, τ)

• page 603, first line of eq. (16.126): · · ·
∫ u∗

u
w (s)L (s) e(r+µ)(u−s)ds [exponential power]

• page 611, lines 3–4: d’Albis (2007).


